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You have four choices for each objective type question as A, B,

Vg 08312 <t L4 D 41 C B A SN 7P
-fx;ﬂwyfzuﬁgﬁazfg{% Sk Lfifw}l)u&):,

1 A

C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use Q'N°'1 -
marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A Questions [ ey Sr.No.
Electrical mail | Electronic mail Electronic Electronic E-mail stands for : 1
Jﬁﬁ—/”?' i ) medium message -4‘:..}138' Y 11
| e s
5 4 3 2 TCP/IP model has layers. 2
SR s TCPIP
___means ing illegal and 3
Browsing Right Privacy Piracy unauthofizeshcopies of the software
il A il ‘,ﬁ/.‘g ithoutCowner's permission.
< 39 “;.‘)V/.?La)kl(fjt‘gﬁfb/(
KL@ e Pt ik
Description Encryption Key of that \sx(n\grd Some companies sell software with a 4
e S6P software (:); SnUlk confidential text, called the
& S\ © 2 s el FB s UE
N i
éx\‘) How many types of tags are there in 5
6 4 3 2 HTML document?
o AL AE Al HTML
There are headings in HTML 6
6 5 4 1 document.
e bl St HTML |
Strategized Candid solution Prepared Best solution | Which solution is not 'reached through 7 r
solution Lfﬁ)‘v! solution S A proper algorithm planning? i
Sy S’ Sl ku@ﬁ’;u@gﬁﬁqvfd’uf
How many W's are necessary to 8
5 2 3 6 understand a problem?
St ks L L e
16 2 10 8 Decimal number system has total 1 9
digits., -t & sl S
(1024)7 '(1024)8 (1024)* (1024) | Petabyte is equal to bytes. 10
_c‘_m/.v..f_u""g &gl};
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(#eslz) |- S PIJALE 2024 (1st-A) MTp A=Y /)
COMPUTER SCIENCE ~ PAPER- GROUP-| s/ Mgy Snd
TIME ALLOWED: 1.45 Hours & 1.45= =% SUBJECTIVE .2 MAXIMUMMARKS: 40 40 = A

NOTE: Write same question number and Its partsiumber on answer book, as given in the question paper.

e bl g IrLadE tn/ban v 9 d b o)

SECTION-I Jslo

2. Attempt any four parts. 08=2x4 -g{//’utliél]l/gcaf 2y
(i) Write the characteristics of well defined probiem. - Jp o, 152701 ol 0)
(ii) How can you understand a problem? ?wé{éﬂx,&l.fl (i)
(i) | Draw flowchart symbols of "Processing” and "Input/Output". St B ¢ g2 sTlg i
(iv) |Write disadvantages of flow chart. gl fetL i | (iv)
(v)  |Define HTML. U2 HTML | )
(vi) |Write main sections in a webpage. (List only) (erfddr) -J,/C//’c“-’rr""éif?wﬁ (vi)
3. Attempt any four parts. 08=2x4 -é//’.-,uy&?uga_éf =340
(i) Define volatile memory. /{)((\ _J)J/’de/dwu (i)
(ii) Give two examples of storage devices. m <] J«J‘) B il 328 G (i)
(i) |Whatis AND Operator? A\ O Se kg AND | (il
(v) |Convert (156), , to binary number. | @s 4 S ASS (156),5 | )
(v) |Define Encryption. /g\\\]}> -uj/':—é’/‘jtfdﬂ»;"" (v)
(vi) |Shortly describe Patent. ~ ) & -u_’ful”nf/‘?f..b‘»;’c, (vi)
4. Attempt any four parts. @O 08=2x4 o ’f_(/’:al,lzﬁlibgcéf 440y
(i) Define Protocol. @ 'J,/(-—E//UJL"’{ 0)
(i) |Define Multipoint connewith daily life example. A ~q/_,y/%dtm Lﬁio/‘/'utfdiﬁc‘/f'{dl (i)
(i) |What is meant by Web Server? Sl e e | (i)
(iv) |Explain ISP. el ISP | ()
(v)  |How do you use Hyperlink in Webpage? ?u_?z"_tﬁdf._,l'u@/.’w{@./_, )
(vi) |What is meant by unordered list in HTML? ?‘Lﬂ/gc,u,.;}{_u: HTML | (vi)

SECTION-Ii (-2

-“é./ fa&'ﬁﬁaﬂb’»&d/ -2

NOTE: Attempt any two questions. 16=8x2

5. How do you determine the formulation of an algorithm? ‘.‘ujé‘,/g}.@gf(;ffid__:{f -5
6. Explain the main components of a communication system. -,éyu,&md)g).&‘fﬁé}.f -6
7. What is Cyber Crime? Explain its any three types. _wal.hsd/(lﬁlufJJwa ?.;.mgﬂfl&‘v f
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Paper Code 2024 (1%-A) -
Number: 1832 SSC PART-I (9" Class) T
COMPUTER SCIENCE PAPER-I GROUP-II P il
TIME ALLOWED: 15 Minutes ), TH—> )y e 15 = s
MAXIMUM MARKS: 10 OBJECTIVES s .o 10 = A

¥
. g P P .
obied) -&es At g/;t Sorts 3 S L o e b &b il L

You have four choices for each objective type question as A, B, C

i aqdidin &z D BC B AM K LIy s
K J-Jib.alzau(i AT Je"_/(/; /':',,E'L L/(éfu,}l;

1 AJiy

and D. The choice which you think is eorrect, fill that bubble in front of that question number, on bubble sheet. Q.NO-1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question.
b c B A QUESTIONS /=t Sr.No.
is a graphical 1
Solution Flowchart Graph Matrix representation of
N 4 s ai) g an algorithm,
) -_T_A.g."'ld/“y‘jvgbl/ut’rl____‘
In flowchart, [____] symbol 2
Process Decision Terminal Flow line is used to show a:
J G Lab S Jusk { et [ Sk
_;:__8)/;\15
Hexa decimal number system 3
18 17 16 15 b tal numbers.
NRLA ot AL
Ok\i/ Number (15),, is equal to 4
1100 1101 1110 o > _____ in binary system.
2 £ : - L ___.(15)10/u’~' (:-/L‘/.'/t:
/(S _é.t‘yu,u
Storage Source Hea @ Receiver Sender is also called : 5
{';1}“" Jir A B O oﬁ{df: -u]%":(f{ J/Dﬁ‘:'(J-‘;
Dynamic Host | Dynamite House 1ic Host Data Hosting DHCP stands for _____. 6
Configuration Converter omputer Computer 1 DHCP
Protocol protocc N Protocol Protocol '
N U'To keep data correct is 7
Key Pate Encryption Integrity called:
g ek S5 i (S O
Similar domain IT reminder Email account Official data Which is not the 8
of actual website ook ddr update breach notification | characteristic of phishing
et s vl | Smondiagse | ol ,
o ?4_‘_/5’L}}dedlﬂuul
The element is 9
<htm[> <title> <head> <body> container for meta data.
e TS
Attributes Both A and B Text Image A hyperlink can be applied to 10
_‘4-:."&5/‘:' B sl A Uiy «_‘—-‘g /,,3“’“ essismcnmel? g
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COMPUTER SCIENCE ~ PAPER-I GROUP-II Py - ay Snd
TIME ALLOWED: 1.45 Hours &£ 1.45= =5 SUBJECTIVE B  |MAXIMUMMARKS:40 40 = Af

NOTE: Write same question number and Its part number on answer book, as given in the question paper.

e botigm g IrIndE tn/dan A drdsgdhdiz <o)

SECTION-l sl

2. Attempt any four parts. 08=2x4 -g{{faglﬁﬁi'ﬂ/kaéf 240
()  |Define valid test data. gl et | )
(i)  |Explain the process of validation. -q/wu:JJ’ch’—»’_%’ (i)
(i) |Whatis meant by "Actit Out'? e e “esland” | i)
(iv) |Explain candid solution. -L[/:)U:u(cf}ﬁf‘?f (iv)
(v) | What is meant by Un-ordered list? S odii- | (V)
(vi) |How an image is added on webpage? “a@b&@é/ﬂ/é’u: (vi)
3. Attempt any four parts. 08=2x4 é@{uyb’ﬁl]bbcdf 230w
()  |Define OR Operator. /\&\?J JAwSSE T OR| )
(ii) Explain proposition in your own words. A &\ O _q/@kutbwl.:?_ffw{/g:? (i)
iii) What is meant by Non-volatile memory? /70 >) ‘.“g:l/gcduclf’w»wt (iii)
(iv) Explain decimal number system. %@ -q/_vw,J(dewd/M (iv)
(v)  |Explain fraud and misuse. /\%{}\} _E o Sl | (V)
(vi)  |What is meant by copyright? Q\ Xf e sl e gl | (Vi)
4. Attempt any four parts.. 08=2x4 fenzlziee 8 -4 v
(i) Describe computer networ}f\({v -J/uk/l(u/}u’/f{ (i)
(i) | Which protocol is used by World Wide Web(WWW)? S‘ad/dv’l (WWW) e f Iub:fdf:’:/cf( (i)
(i) [Write the difference between static and dynamic IP. LSS fOPenl 1P K15 K | (i)
(iv) Write the working of router. _Q):/f“frfé ya (iv)
(v) |Write a tag to make text bold. ,L/_‘)://;_@_LLZU;{;Q/? (v)
(vi) |Define definition list and write its tag. IS F B S el 5 | i)

SECTION-II (932>

.y /’.:a ylz"./..:aﬂln:c:.éf -d

NOTE: Attempt any two questions. 16=8x2

5. How do you determine the formulation of an algorithm? ?@L/éu:"- Kﬁ@&%’,ﬂgﬂ )
6. Explain the understanding of IP addressing. _u:/yu::@f,@“zél P -6
7. Explain substitution cipher method with examples. -_éyu,c_u)t%Juk)[.djvd;pﬁv oy
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Paper Code
Number: 1833

2023 (1
SSC PART-1

COMPUTER SCIENCE (NEW COURSE)

GROUP-1

‘A) M @
(91‘*‘ Cfass) e Foeepm s s /'j‘J”
(o & It

(g )

TIME ALLOWED: 15 Minutes MTA ~19 3 v 15 =
MAXIMUM MARKS: 10 OBJECTIVE &', . 10 =4S

-éﬁ:/.’r-cjjg)jt/;}'bJWJG/J:Q;I:?:.«fu:.uﬁu:;hié,;:’.‘_l/.f.dlVA,.7/7QVL?£-LEZ’:2,.JD/NC B ,‘A :«U:?.'ngs':dir‘q --ﬁd’

-;f/;d’f/zwlﬂf/',g/,,)!rg/! -s’a.tgg:us’/(jfu:amJL/.;/;/u,/’u ..G*ﬂu"jw.rvlﬁwfiuf-.wf‘;ri—/;;:/;:«b’l_,_L./f,.',fu:/";ugic-v.{"
Note: You have four choices for each objective type question as A, B, C and D. The choice w'hiqh you think is cerrect,
- Fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be awarded in

case Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A
(n Whic'h o_f the foll.owin‘g is not the characteristics e UASE 5B b e atitn (1)
. of phishing e-mail? i '
(A) Official data breach notification &ubi (i SE36K i
(B) Similar domain of actual website ¢ Az}
(C) IT reminder JL»LL‘BJT (D) Email account update S 2SI ¢
2 is the process of encoding data. @@U’M S8 @
'(A) Integrity B (B) Availability .
(¢) Confidentiality (i (D) Noneo ' 1 AT
' (AN
(3) The element has contained for Meta e BBt (D)
data (data about data). | %@ RS
(A) <body> (B) <head> @ title> (D) <html>
4) To save the HTML page, we can used g o~ & LS5 {5 HTML L)
as file extension. <& — i o
. Ut S
(A) “htm (B) htm (C) - xhtml (D) Both(A)and (B)  usn (B) i (A)
: —]
(5)  Which symbol is used for cannéctor? te dndre gl d L7 (5)
HONES ® [ © O () —>
1(6) ___means to test if the required solution is : !ufk'q:.: 2rf AT S e 6
there or not. .
(A) Verification DERli) (B) Algorithm / A
© (¢) Validation = ks (D) Flowchart s
@) Which symbol is for AND operator? ¢ ?‘3” el Us e Ll AND  (7)
(A) + B). — (C) . {D) x
&) “It is cold outside” is el e (8
(A) Boolean proposition iy uty (B) Categorical proposition ¢y, Kb
(C) Moral preposition Sy (D) None of these 7 (Ve 2.
® How many types of IP address are? - S\ pLnLl” Lf(uf;éllp ©)
(A) 5 (B) 4 ©) 3 ‘ D) 2. ,
(10)  Communication protocol covers . A Ji y ﬂJ (10)
* (A) Authentication (.9 =5 (B) Error detection l:/,‘}"uw
(¢) Correction (/5 (D) Allthese (7,
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@ - 2023 (1s-t-A)‘ n Ay

SSC PART-l (9th CLASS)

COMPUTER SCIENCE (NEW COURSE) GROUP-I b - oS (L) Find
TME ALLOWED: 1.45' Hours SUBJECTIVE Lo 145 = =
MAXIMUM MARKS: 40 M’TM, ~[-23 40 = AS ‘

‘NOTE: Write same question number -:,‘..Zy»g)ﬁ;.{.é':’J;?g;";.bu/:‘;:iufffv’fdgd((}b? -y
-and its part number on answer book, as given in the question paper.
SECTION-I (il

2. Attempt any four parts. 8=2x4 - fepalizige 8 250
() Whatis meant by solving problem? _ e e S S [0}
(i) What is' meant by underétanding a problem? el sl )
(iif) - What is meant by strategy "use guess" in defining a problem? Sl Y L ittt Bl (i)
(iv). © Write the definition of Absent data in your own words. . -uf’i U kwié-‘u;é’/”J l‘ciw[ (iv.)}
(v) .~ Write down the name of HTML tags. -u.",@bé A £ HTML v)

- (vi) . Whatis thé_ difference between ordered and unorderad list? ?%J/‘gd:.b") ST 33T ()
3. Attempt any four parts. 8=2x4 -g!;@m&mgc_éf -3
()  Define Binary Number System. | S ApBeedt )

(i) Convert (C921)4 to decimal O s (€921),g (i)
e 2 P .
- (i) | Write:two differences between memory and storage. - @ ) -;{{fu/::uL»»LG'sz,ld/n’ (1))

(N) Make truth table for NOT Operator. LA L g NOT ()

(v) ' Define Patent. @@ ~Eou il (v)
(vi) ,What isa reason to add captcha on website & ?;,_?:L/J s Lf%)/ (Capteha) Ly (vi)
4. Attempt any four parts. g=2x4 g feplinvee 8 4ty
()  Write different types of transmis _ ; ,urirwuﬁ‘lf e o)
(i) . Describe the difference between Static and Dynamic IP address. -s‘é’uyu')u‘fufzyq-dﬂ.f E13 st A (iiy .
(i)  Define FTP Protocol. LI FTP i)
(iv) vDescrib'e fh‘e difference between Server system and Client system. LIRS LI Py (V)
(V) Write names of two attributes of <img> tag. ' -&t&u”.ﬁqﬁlué.g <img> - (v)

(Vi)  Write HTML code/tag to make the word ey B HTML LS italic S "PAKISTAN" &1 (vi)
 "PAKISTAN" italic.

SECTION-Il (1.0

NOTE: . Attempt any two questions. 16=8x2 - "{..//’P&L‘-'é:»..mﬂrm:_.éf i
5. Cdmpare verification and validation. _ S b sa§ NSO BTN R AP ) -6

‘ Expla'in with example. ‘ ' ‘ "y
6. Describe'in detall the need of computer network. ,;,_ffcjgllﬂf;'u/ﬂ;ﬂ;q,})::{ -6
7. E.xblain any four types of Cyber Crime. -{;’ o u;d’(lﬁb}g u’JfJ("U}’V 7

37(NEW COURSE)-2023(1st-A)-23000 (MULTAN)




PAPER CODE - 2023 (1st-A) oy
NUMBER: 1834 SSC PART- (Sth CLASS)

“COMPUTER SCIENCE (NEW COURSE) GROUP-I s - f,f (b p) ok
TIME ALLOWED: 15 Minutes OBJECTIVE u" Y w15 = =y
MAXIMUM MARKS: 10 . TR =113 10= Af

S | B AL N f DAL VL Q6317 - U L& D 11 C B A izl L iy wef
{‘3{’4"‘)1 -“-‘!&:uﬂ’/.’éfu!amfé_&.{bﬁb -&'mﬂw;lzuﬁwmﬂﬂ_”ﬂ Jox L L/‘éia:/'bup;_-.g ey
Nofof- YE‘Y,ou' hovo four cholceo for each objective type question as A, B, C and D. The choice. -ch.éd'?fz.-«mr
Whlo'h' you think is correct, fill that bubble In front of that question number, on bubble shget. Use marker or paﬁ
“to fill the bubbles. Cutting or fllling two or more bubbles will result In zero mark In that question. No credit will be
awardod In case BUBBLES are not filled. Do not soive questions on thls sheet of OBJECTIVE PAPER

" Q.No.1 ‘ ‘ | A Al
(1) Numbe:r "17" s equal to in binary system. ' —etmdsl M7 /ufr"’ A ‘,A('1)'
(A) 10000 (B) 10110 (C) 10100 (D) 10001 ‘
| .(2) One Gigabyte is equal to: ~e A AL @)
(A) (10.24)_5 Bytes (®) (1024) Bytes  (0) (1024)° Byte @(1024‘) Bytes '
(3) .Comm‘unlcation protocols covers Q.t;;r iy iy u’gf 3)
(A) Authentlcatton C/JMJ_JL— (B) Correction cfo’u %e ction k)?)*’gf'k (D) All these rV.

(4) Which one of the followmg is not Network Topology? q-u“ GBI S Vuff—uﬂu’ ' (4)
(A Bus Topology u’.;’%Lﬁ Z (B) Protocol Topology RNy

(C).Star Topology (Js/y/t

' (D) Ring Topology G
(5) Which one of the following is not a ¢

(A) Hacking & dentity theft (,z =318 (C) Phishing crime /L/CE¥ " (D) Decryption /44 }

®) b‘ I8 a serious attack on computer system. ‘ . _-_ﬁ-,,,lzg:‘z b,ﬁ{(!"/“g;( ' (8)
(A)'Trad'e seorets wdAg - (B) Sabotage Sies j (Cy Copy right law w/62/1,3¥ (D) Patent 2k
(7 Which attribute is used to apply background ‘ ?.;.tndwiu&dﬁﬂ/ufq’rLL@;JMM.Q Ll (7

K lmage- in.webpage?
(A) Bagkground ¥3L/Cg (B) Text 2P (C) Anchor & (D) All these Ui

(8) 'Webpages can be created and modified by using -c.t‘(ab(cj,yub«gnl./db’ K f(/.a (8)

(A) Notepad ++ = ++jg2s (B) Notepad k<’ (C) Text Edit .,y.,? (D) AII these (L%

9) means to test.If the requried solution is there or not. I-ﬂgmnf,#”gl@.wb’ (9)

(A) Verification pauSsipy (B) Algorithm (i (C) Validation ¢tk (D) Flow chart Lo

(10) Which strategy does divide a complex problem into Y;.Jf,ﬁj AV A 4 L:%’/&'.g,d’ L5yl (10)
smaller problems? '

(A) Act it out ;,5’(_:,“,{ ! (B) Divide and conquer o Eub/ﬂ:'r (C) Porototype o
(D) Guess, -check and improve l,{"bx /"('u&,g b -u_’lﬁo)u:l

39(NEW COURSE)(Obj)( W 7 )-2023(1st-A)-17000 (MULTAN)
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i COM'PUTERV‘SCI'ENCE (NEW COURSE)
TIME ALLOWED: 1.45 Hours

MAXIMUM MARKS: 40

(iv)
(v)
(vi)

4, Attempt any four parts.

@i
- (i)

(iii).

(iv)

Explain Hacking.

2023 (1st-A)
SSC PARTl (9th CLASS)
. GROUP-II .

SUBJECTIVE Lo

MTne gy
'NOTE Write same question number -§.cm;;_4.gv.6>g{ Z,J:/‘G]AI/'UM}":/QS’&V

and Its part number on answer book, as given in the question paper.

SECTION-l Jse

2. Attempt any four parts. 8=2x4

(i) Desprlbé "Divide and Conquer" strategy.
(i) Define Verification.

i)y Draw four flow chart symbols.

(v)  Give example of wrong Data Format.

(v) Define’Rowspan:

(vi) ,' Describe about the singular tags.

3. Attempt any four parts. 8=2x4

(i) Deﬁﬁe ﬁon volatile memory and give an example.

(i) What s meant by the truth values? 3
" (i) .Convert - (AB)'1 6 into quary ﬁumber Syétem. é&% ,

How many Kilobytes are in one Megabyte?

%@
O

8=2x4

What is meant by Hard-disk loading?

What is meant by File Shari
Write a note on Bus Topology.

Explain Transmission medium.

Define File Transport Protocol.

o

A |

l/,;_b,:f(..,u?l_;) LJ"'J.'V}%I -
& 145 =

40 =

p
AF

Oy

-E i lizlee 3 ,é,‘{’dfr'

LIS F g ISy S

LIPS i s 9
bl S b
Ay

-Iu b

Et N LRI

et g /o ASS e Seust
S inksdi
-yt 6t f (AB),
fut & A K ot o S

‘-‘g.)‘/l:'/c. j)’:’b‘c“/&

-gj“/:)l.};(j_@.‘

-@awazug:_‘}[ L340

M
(iy
. (i)
(iv)
O
(vi)

0.
(i)
(i)
)
W
(vi)

-Eofealizige 8 a0y

.‘-‘s—)’/Lff—JﬂU’G
A ORI
Sl A
SIS Jﬁ){g&/},"}/’gftﬁ

S bn eI Buud L 698 HTML

; 0
(ii)
(1K) .
(iv)

(v)  Which tag Is used for adding image in HTML? (v)

(vi)  Explain Hyperlink. -u_‘/..wu:(:f..@/{[, (vi)
SECTION-Il (1. °

_.NOTE: Attempt anytwo questions. 16=8x 2 -éz/’owéauw;é/ <L/ "_
g ferlne Jo Ly L A e 1L L S e Ui LEELG S .
. ’Suppose a problem has a multiple solutlons How would you choose the most effucuent algorithm
to solve a problem? Explaln with example. ’

6. Explain Protocol in TCP/IP sut ‘-.g:y ey TCPIP L0

7. . Whatdo you —— Cybercrime? -46.:.){(&@:’1)‘6;{{‘/1 R GE YL TR AL AL 3

" ‘Also write note on any three types of it.

39(NEW COURSE)-2023(1st-A)-17000 (MULTAN)
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PAPER CODE 2021 (A) s
SSC PART-l (9th CLASS)

NUMBER: 1835

COMPUTER SCIENCE GROUP-I by - orf Sl

-

TIME ALLOWED: 15 Minutes OBJECTIVE u‘;o/’/ 2215 = =y
MAXIMUM MARKS: 10 mmpqi-2 10= A8

fe o | SABI L Sreena S UL L L Iy dbiin -t Ll D 1 C B A MR Ly -2
{241 -fL!gLuﬂ}ﬂ’qufaszLﬁi }()ﬁb -fm:‘%&,«&uﬁufau‘b(i.& Jo { L/,ifu;ﬂmu;_..._ﬁ 2
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/.-‘f&.-,wr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) 1(one) Megabyte is equal to . -‘at'ﬁ/.lf.ﬁ LB (.ﬂ)1 1)

A) UMl (10242 bytes  (B) L (1024)3 bytes  (C) L (1024)* bytes (D) UL (1024)0 bytes

(2) Routing is a process of taking bbby ST /»/&.@ LTS {_Jf (LI b (2)
data from one device and sending it to another device on different (é )
(A) Channel J# (B) Network Jsee’ (C) Path,, @O D) Area L/
(3) How many layers TCP/IP model has? @ s AFSINTCPIP  (3)
A) 4 (B) 3 @% (D) 6
o..% Do Plitsgd (96 s AL e el Sl ek )

t owner's permission.

4) means making illegal and

unauthorized copies of the software

(A) Right A ( sing b5z (C) Piracy Uzl (D) Privacy (¥l

(5) Which of the following is not a cyber crime? ?%ui?" (!’lf/{t/l/ufcwdjbu (5)
(A) Hacking S (B) Phishing crime fl/_@ (C) Identity theft d/i,(f&tﬁ (D) Decryption ufs’-/..( 3

(6) What type of language is HTML? Vc‘-(‘;,@«f({/ HTML (6)

(A) Programming .f'!)f; (B) Scripting -.«é’/a (C) Object oriented ML LFT (D) Markup u!..ﬂl.

(7) Which is the correct HTML tag for inserting a line break? "c..t/uf..f HTML ../miﬁd../ b».f/u’ll (7)
(A) <BREAK> (B) <NEWLINE> (C) <BR> (D) <BL>
(8) Which solution is not reached through proper ?t'lgla@ﬁ"c. (Planning) ..étg(’fﬁ_/vf‘ﬂ/ (8)

algorithms planning or work planning?

(A) Prepared solution Js45¢ (B) Candid solution 3.4/
(C) Strategized solution J’u’g&f =L (D) Best solution Ji7 #*

(9) Itis used to determine the flow of steps in a flowchart? -{.tlggdb?lg'.éi.fw;’ ¥ (Flow) szl ot &19}55( (9)
(A) Process i (B) Terminal J+/ (C) Flowline Jﬂ;ﬁ (D) Connector /'-5’/

(10) The base of binarygumber system is: —e B BGwdE (10)
(A) 16 (B) 8 (C) 2 (D) 10
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and its part number on answer book, as given in the question paper.

SECTION- il

2. Attempt any four parts. 8=2x4
(i) What are the strategies of defining a problem?

(i) Define Problem Analysis.

(iiy ~ Describe the importance of flowchart in problem solving.

(iv) Definean algorithm.

(v)  Whatis meant by Hyper Link?

(viy  Write down the names of main sections of HTML document.

3. Attempt any four parts. 8=2x4

0] Define memory.
(i) Convert (1000001), into decimal number system.

(iiy  Describe difference between volatile and non-emory.

(iv) - What is meant by truth values? %

{v) Define Piracy.
(vij  What s cyber crime?

4. Attempt any four parts. 8=2x4

(i Define the TCPI/IP.

(i1) Define IPv4 address.

iy ~ What is meant by message?

(iv)  Whatis Computer Network model?
(v)  Write the characteristics of HTML.

(vi)  Write the use of <html|> tag.

SECTION-II Cua"

NOTE: Attempt any two questions. 16=8x2
5. Explain determining requirements for a flowchart. 8
6. Why is computer network needed? Write in detail.

7. What is meant by Encryption? 8

Explian the importance of Encryption for everyday life on the Internet.

Eiferplinvge S 2 0r
";.t”fjgg. )’Kd__/u"‘(éf..f (1)

NS SIS {7
IS O SRV A ()
NI %2

el WeBdy W)
u’u;vé.//w: HTML (V)
@@é Fenlizvea$s 340w
S 0
_-Q/tjumjtrwumjwu/ (1000001), (i)
SIS St sst Jeuss (i)
S intsdi/ (V)

SIS PSEA W

e VAL (Vi)

_E ferplizuge b 4y

-y /w8 TCPnP 0

g fS A e (i)

ol (i)

v{‘_mgd;tbﬂ,q/‘,;! (iv)

S Seeter®S HTML ()
LIS <ptmi> (Vi)

-é,:{ ;@U_?.L:aﬂlf»c:_éf -2
ol b 5

8 'éukﬁfﬂ ?‘GJZU:[:—A/‘”JJM—:‘/‘:! -6

-J_/ugaﬁlp(d/(j{q‘/"ldJ,Cjo/Ju‘/..' e $KS T
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SSC PART-l (9th CLASS
NUMBER: 1834 ( )

COMPUTER SCIENCE  GROUP-II b = wrd Sl
TIME ALLOWED: 15 Minutes OBJECTIVE @L‘J 415 = =
MAXIMUM MARKS: 10 M ~G2-2/ 10= AF

S ohi U I3 L ene . U & LIy 3¥317 <L 4D 4 C B A ezl l vy -2f
/p/.Jlnj 1 -rt_bt:gf;/(;f(ﬁuzftfd—):4 JO;/L! -&Jﬂwub"uﬂu:quJA—& Jo¥ L L./_d/u;/buh:_uf obd
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u‘/ J’);-umr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) Borrowing and installing a copy of -‘Lt‘lkv( t/JDI/LQKJﬁ;.*)L/w’-‘&";G/»o’( (1)

an application software is called

(A) Softlifting a3l (B) Counterfeiting $A-J%
(C) Hard disk-loading £3/—C154 (D) Online piracy (-2l @

(2) Illegally accessing some one else's computer is called: @fd" (pdl//..f/rfﬁg_ /»JSM(}JG‘/ (2)
(A) Softlifting s (B) Confidentiality Cs“"'ﬁ}.y ¥ (C@%ﬁ D) Hacking S

(3) There are types of headings in HTML docu _ujdﬁnbﬁmf(" - ulg.‘/::(l} HTML (3)
(A) 4 (B) 5 A (D) 1 ’

(4) HTML language is used to create: e Gt b LEHTML @)
(A) Image s+ (B (C) Webpage &' (D) Attribute Ls0 %/

(5) is a graphical representation of an algorithm. _‘wwd{rﬂvgufﬁﬁ (5)
(A) Matrix 6 (B) Graph Jl/ (C) Flowchart :,/.t,nﬁ (D) Solution S

(6) Before problem solving, first we needto ____  a problem, -é.vbtf o KJ’%:.L/J’:Q’:‘U’( 6)
(A) Analysis -7 (B) Planning i (C) Candid solution J3.4 (D) Defining w4

(7) Number "17" is equal to __in binary system. -c‘,t'n/.’/.L I YA /f’uf,/"/d/"/l, )
(A) 10000 (B) 10110 (C) 10001 (D) 10100

(8) The base of decimal number system is: -q-w’erid:»dJW' 8
A) 2 (B) 8 (C) 10 (D) 16

(9) E-mail stands for . -‘LJJ«?K (E-mail) «J‘fd’ (2)
(A) Electronic mail JZf1:4) (B) Electrical mail <241
(C) Electronic medium ¢ 4k |20 (D) Electronic message Ge 2

(10) How many basic components of communication system are? ‘-’qgi'—/flzld:g%é("/w’-’gf (10)
(A 1 (® 3 © s (D) 6

39(0bj)( 7€ 7X)-2021(A)-17000 (MULTAN)
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NOTE: Write same question number -:.-bugﬂ;../.!lfﬂég LJJ/’:]JM/UVLF:/QVGU’ Y

and its part number on answer book, as given in the question paper.
SECTION-l sl

2. Attempt any four parts. 8=2x4 -g{{/’uw’&l?blca.éf -Z/Ulr’
() Define flow line in flowchart symbols. - S /’JJU}’J urwa P (i
(i) Whatis "Act it Out" strategy? ?:‘_k[‘y JJ&?T.*«! 251 (ii)

(i)  How is the strategy "Gain Back ground Knowledge" ?4..?)'4'1?)»(,/);/ i Sy Y t/r}"'}"‘uil(é‘:‘ T (i)
helpful in defining a problem?
(iv)  Whatis the purpose of "Input” and "Output" ‘.’c‘..t'n,w”L[K “ st gt yMZJu (iv)

notation of an algorithm?

(v) How can you insert line break in HTML page”? <§i /./Tf..{ /./JUJIG’ HTML.;T (v)

(vi) What is meant by anchor in HTML? @ °¢..:l/l/c,/€lu" HTML (vi)
&

3. Attempt any four parts. x% ﬁ} E fezlizvpe 8 -3 ANy

()  Convert (156), decimal into binary number system, < ;l @ -J/Jyu"rlbﬁwdﬂ:—.f:f (156)40 0)

(i)  Draw the truth table of NOT operator. @ S wEA Ik NOT (ii)
rfon-volatile memory? %;k@)u:d»ﬁﬂfﬂ»ut 2! J/QU” (iii)
IS A e S 23y W)

(i)~ Whatis the difference between Volatile
(iv)  Conver (A23)4g Hexadecimal in

(V) What is meant by Cyber Crime? ?‘g)l/y/cf’l//:’ v (v)

(vij  Whatis Softlifting? S B (Vi)
4. Attempt any four parts. 8=2x4 -é;/aylzétzugc,éf -4/:Ul/
()  Define file sharing. SIS EESe W
(i) What is meant by increasing storage capacity? ?‘é,ygaé_uu::{wkf‘;/sﬁ (i)
(i) What is meant by Message? \ el ()
(iv)  Describe Routing in the Internet. ,Q/ugfué5/4qfl (iv)
(v)  How to write Headings and Sub-headings in “u}ﬂ/d;x@q 2l f/'}mﬂwf../b‘ HTML £ (v)

an HTML document?

(vij  Write the procedure to create Hyperlink to image. -Q/.//:KJA )’KL@’JJ/,’Q{_/:;’ (vi)

SECTION-Il (<

NOTE: Attempt any two questions.  16=8x2 -é{faylxﬁgvlrm;df ket
5.  Define flowchart. 8 AN R AT B | DT

Also write the use of any three flowchart symbols.
6. Define any four layers of Computer Network Model. 8 -Q/&/’&/{JEJJIJJ;‘LJ;QJJ -6

— Wikta nAta an Sihetitution Cipher Methods. 8 -u:"i _v,QU)"E /’Ldﬂ/d:ﬁ -7




